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GML g2kl

<{?xml version="1.0" encoding="UTF-8"?>
<rdtkov:RdTkovDataset xmins:rdtkov="http://www_city kita.tokyo jp/road/schema/roadgis”
xmins:gml="http://www.opengis.net/gml/3.2” xmins:xlink="http://www.w3.org/1999/xlink”
xmins:xsi="http://www.w3.org/2001/XMLSchema-instance”
xsi:schemalocation="http://www.city kita.tokyo jp/road/schema/roadgis RdTkov.xsd” gml:id="rdtkov1”>
<gml:description> & #& i1 T H VST —4</gml:description>
<gmlname>E&IE T H> 7L T—A2 (GMLAR) </gml:name>
I— ZRBEMDIVARVA —>
<!I-- GM_Point —>
<gml:Point gml:id="P1">
<gml:pos srsDimension="2">-94.00 —194.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P2">
<gml:pos srsDimension="2">-94.00 -109.50</gml:pos>
</gml:Point>
<gml:Point gml:id="P3">
<gml:pos srsDimension="2">-90.50 —106.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P4">
<gml:pos srsDimension="2">-96.50 —106.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P5">
<gml:pos srsDimension="2">-103.50 —106.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P6">
<gml:pos srsDimension="2">-109.50 —106.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P7">
<gml:pos srsDimension="2">-109.50 —109.50</gml:pos>
</gml:Point>
<gml:Point gml:id="P8">
<gml:pos srsDimension="2">-106.00 —194.00</gml:pos>
</gml:Point>
<gml:Point gml:id="P9">
<gml:pos srsDimension="2">-103.50 —194.00</gml:pos>
</gml:Point>
<gml:Point gmlid="P10">
<gml:pos srsDimension="2">-96.50 —194.00</gml:pos>
</gml:Point>
<gml:Point gml:id="X1">
<gml:pos srsDimension="2">-96.50 —164.00</gml:pos>
</gml:Point>
<gml:Point gml:id="X2">
<gml:pos srsDimension="2">-103.50 —134.00</gml:pos>
</gml:Point>
<!I--= GM_Curve —>
<gml:Curve gmlid="cv1™>
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P10”/>
<gml:pointProperty xlink:href="#P9”/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv2">



<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P9"/>
<gml:pointProperty xlink:href="#P5"/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv3">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P5"/>
<gml:pointProperty xlink:href="#P4"/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv4">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P4" />
<gml:pointProperty xlink:href="#P10”/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv5">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P1”/>
<gml:pointProperty xlink:href="#P10”/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv6">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P4" />
<gml:pointProperty xlink:href="#P3"/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv7™>
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P3"/>
<gml:pointProperty xlink:href="#P2" />
<gml:pointProperty xlink:href="#P1”/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv8">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P9”/>
<gml:pointProperty xlink:href="#P8"/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv9">
<gml:segments>



<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P8"/>
<gml:pointProperty xlink:href="#P7"/>
<gml:pointProperty xlink:href="#P6" />
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<gml:Curve gmlid="cv10">
<gml:segments>
<gml:LineStringSegment interpolation="linear”>
<gml:pointProperty xlink:href="#P6" />
<gml:pointProperty xlink:href="#P5"/>
<{/gml:LineStringSegment>
</gml:segments>
</gml:Curve>
<{!-— GM_OrientableCurve —>
<gml:OrientableCurve gmlid="ocv1” orientation="-">
<{gml:baseCurve xlink:href="#cv4” />
</gml:OrientableCurve>
<gml:OrientableCurve gmlid="ocv2” orientation="-">
<{gml:baseCurve xlink:href="#cv2"/>
</gml:OrientableCurve>
<{!I-— GM_Surface —>
<gml:Surface gmlid="sf1">
<gml:patches>
<gml:PolygonPatch>
<gml:exterior>
<gml:Ring>
<gml:curveMember xlink:href="#cv1”/>
<gml:curveMember xlink:href="#cv2” />
<gml:curveMember xlink:href="#cv3"” />
<gml:curveMember xlink:href="#cv4” />
</gml:Ring>
</gml:exterior>
</gml:PolygonPatch>
</gml:patches>
</gml:Surface>
<gml:Surface gmlid="sf2">
<gml:patches>
<gml:PolygonPatch>
<gml:exterior>
<gml:Ring>
<gml:curveMember xlink:href="#cv5" />
<gml:curveMember xlink:href="#ocv1”/>
<gml:curveMember xlink:href="#cv6"” />
<gml:curveMember xlink:href="#cv7”/>
</gml:Ring>
</gml:exterior>
</gml:PolygonPatch>
</gml:patches>
</gml:Surface>
<gml:Surface gmlid="sf3">
<gml:patches>
<gml:PolygonPatch>
<gml:exterior>
<gml:Ring>
<gml:curveMember xlink:href="#cv8” />
<gml:curveMember xlink:href="#cv9” />



<gml:curveMember xlink:href="#cv10” />
<gml:curveMember xlink:href="#ocv2” />
</gml:Ring>
</gml:exterior>
</gml:PolygonPatch>
</gml:patches>
</gml:Surface>
- BREBEMEOIVARVA —>
<= TM_Instant —>
<gml:Timelnstant gmlid="ti1" frame="#JIS-X-301">
<gml:timePosition calendarEraName="F&">2009-12-08</gml:timePosition>
</gml:Timelnstant>
<gml:Timelnstant gmlid="ti2" frame="#JIS-X-301">
<gml:timePosition indeterminatePosition="now” />
</gml:Timelnstant>
<!I-—- TM_Period —>
<gml:TimePeriod gmlid="tp1” frame="#JIS-X-301">
<gml:begin xlink:href="ti1"/>
<gml:end xlink:href="ti2"/>
</gml:TimePeriod>
—HA VARV —>
I—ERER >
<rdtkov:Route gml:id="route1”>
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:Route.id>126</rdtkov:Route.id>
<{rdtkov:Route.name> X 1& 5 1265 2 </rdtkov:Route.name>
<rdtkov:Route.roadType>F N X 5&</rdtkov:Route.roadType>
<rdtkov:Route.type> & 4FE</rdtkov:Route.type>
<rdtkov:Route.class> &5 3§k </rdtkov:Route.class>
<rdtkov:Route.emgncy TrnsprtRoad>3R</rdtkov:Route.emgncy TrnsprtRoad>
<rdtkov:Route.containedData xlink:href="rdwyal”/>
<rdtkov:Route.containedData xlink:href="prtpt1”/>
<rdtkov:Route.containedData xlink:href="prtpt2”/>
<rdtkov:Route.containedData xlink:href="light1”/>
<{/rdtkov:Route>
—-EHE >
<rdtkov:RoadwayArea gml:id="rdwyal”>
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:RdTkovFeature.containRo xlink:href="route1”/>
<rdtkov:RdSurface.area xlink:href="#sf1"/>
<rdtkov:RoadwayArea.length>88.00</rdtkov:RoadwayArea.length>
<rdtkov:RoadwayArea.width>7.00</rdtkov:RoadwayArea.width>
<rdtkov:RoadwayArea.calcArea>616.00</rdtkov:RoadwayArea.calcArea>
<rdtkov:RoadwayArea.pave>
<rdtkov:RoadFeature_Pave>
<rdtkov:RoadFeature_Pave.type> 7 AJ7)l b % _B#kiE H </rdtkov:RoadFeature_Pave.type>
<{/rdtkov:RoadFeature_Pave>
</rdtkov:RoadwayArea.pave>

</rdtkov:RoadwayArea>
Q53 >

<{rdtkov:PartialPedestrianTruck gml:id="prtpt1”">
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:RdTkovFeature.containRo xlink:href="route1”/>
<rdtkov:RdSurface.area xlink:href="#sf2" />
<rdtkov:BicycleAndPedestrianTruck.length>88.00</rdtkov:BicycleAndPedestrianTruck.length>
<rdtkov:BicycleAndPedestrianTruck.width>2.50</rdtkov:BicycleAndPedestrianTruck.width>
<rdtkov:BicycleAndPedestrianTruck.calcArea>226.12</rdtkov:BicycleAndPedestrianTruck.calcArea>
<rdtkov:BicycleAndPedestrianTruck.pave>



<rdtkov:RoadFeature_Pave>
<rdtkov:RoadFeature_Pave.type> JOYIEHEE</rdtkov:RoadFeature_Pave.type>
<{/rdtkov:RoadFeature_Pave>
</rdtkov:BicycleAndPedestrianTruck.pave>
<{rdtkov:PartialBicycleAndPedestrianTruck.leftOrRight> 5
</rdtkov:PartialBicycleAndPedestrianTruck.leftOrRight>
{rdtkov:PartialBicycleAndPedestrianTruck.structure Type> 2373V +
</rdtkov:PartialBicycleAndPedestrianTruck.structure Type>
<rdtkov:PartialPedestrianTruck.type> R #& 4518 </rdtkov:PartialPedestrianTruck.type>
<{/rdtkov:PartialPedestrianTruck>
<{rdtkov:PartialPedestrianTruck gml:id="prtpt2">
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:RdTkovFeature.containRo xlink:href="route1”/>
<rdtkov:RdSurface.area xlink:href="#sf3" />
<rdtkov:BicycleAndPedestrianTruck.length>88.00</rdtkov:BicycleAndPedestrianTruck.length>
<rdtkov:BicycleAndPedestrianTruck.width>2.50</rdtkov:BicycleAndPedestrianTruck.width>
<rdtkov:BicycleAndPedestrianTruck.calcArea>226.12</rdtkov:BicycleAndPedestrianTruck.calcArea>
<rdtkov:BicycleAndPedestrianTruck.pave>
<rdtkov:RoadFeature_Pave>
<rdtkov:RoadFeature_Pave.type> JOYIEHEE</rdtkov:RoadFeature_Pave.type>
<{/rdtkov:RoadFeature_Pave>
</rdtkov:BicycleAndPedestrianTruck.pave>
{rdtkov:PartialBicycleAndPedestrianTruck.leftOrRight> ZE
</rdtkov:PartialBicycleAndPedestrianTruck.leftOrRight>
{rdtkov:PartialBicycleAndPedestrianTruck.structure Type> 2373V k
</rdtkov:PartialBicycleAndPedestrianTruck.structure Type>
<rdtkov:PartialPedestrianTruck.type> R #& 4518 < /rdtkov:PartialPedestrianTruck.type>
<{/rdtkov:PartialPedestrianTruck>
—-RREAEER ——>
<{rdtkov:Lighting gml:id="light1”>
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:RdTkovFeature.containRo xlink:href="route1”/>
<rdtkov:Lighting.point xlink:href="#X1"/>
<rdtkov:Lighting.type> 7K #8 KT</rdtkov:Lighting.type>
<rdtkov:Lighting.output>250</rdtkov:Lighting.output>
<{/rdtkov:Lighting>
<{rdtkov:Lighting gml:id="light2”>
<rdtkov:RdTkovFeature termOfValidity xlink:href="#tp1”/>
<rdtkov:RdTkovFeature.containRo xlink:href="route1”/>
<rdtkov:Lighting.point xlink:href="#X2"/>
<rdtkov:Lighting.type> 7K #8 KT</rdtkov:Lighting.type>
<rdtkov:Lighting.output>250</rdtkov:Lighting.output>
</rdtkov:Lighting>
</rdtkov:RdTkovDataset>



